Period of a Pendulum

How to work with the data

One way to look at the "shape" of the data would be to draw a graph.
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That is easier to work with.
It should be obvious that the graph is a curve. Draw the best straight line

It is not easy to draw an accurate line when the line is a curve.
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Let us see what it would look like if we graph Length vs. Period?
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Now use the line to estimate the what length pendulum would have a Don’t forget to label the axes of the graph

period of 1 second.
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Conclusion:
In order to have a period of 1 second, a pendulum should be
cm long.
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